

## REPUBLIC OF THE PHILIPPINES Department Of Health



## National Center for Mental Health

## **NOTICE OF AWARD**

January 23, 2023

## PANAMED PHILIPPINES INC.

488 G. Araneta Avenue corner Del Monte,

Brgy. Sienna, Quezon City

Tel No .: +63 928-6979577 /855 94 558 /0915 449 8179

Email: vinpimentel.1989@gmail.com mapimentel@panamed.com.ph

Sir / Madam:

Please be advised that based on the results of the **Public Bidding** conducted by the National Center for Mental Health for the **Supply and Delivery of Medical Supplies CY 2023**, the following item/s is hereby awarded to your company:

NO.	ITEM DESCRIPTION	CODE	QTY	UOM	UNIT PRICE	TOTAL PRICE
1	Lubricating jelly, sterile, non-toxic, water- based, 80 gram/tube (with at least 24 months expiration). Country of origin: China	MS-054	200	Pc	84.00	16,800.00
2	Needle, disposable, sterile, g.26 (with at least 24 months expiration). Country of origin: China	MS-072	200	Pc	1.20	240.00
3	Needle, disposable, sterile, g.27 (with at least 24 months expiration). Country of origin: China	MS-073	200	Pc	1.20	240.00
4	Needle, disposable, sterile, g.30 (with at least 24 months expiration). Country of origin: China	MS-074	200	Pc	1.20	240.00
5	Straight Catheter, Fr.8, transparent, individually packed, sterilized by EO gas, non-toxic, non-pyrogenic (with at least 24 months expiration).  Country of origin: China	MS-087	20	Рс	13.75	275.00
6	Straight Catheter, Fr.16, transparent, individually packed, sterilized by EO gas, non-toxic, non-pyrogenic (with at least 24 months expiration).  Country of origin: China	MS-090	700	Pc	13.75	9,625.00

"There is no Health without Mental Health"







7	Tourniquet disposable state to the	T	T	T		
,	Tourniquet, disposable, elastic, textured finish/smooth, retractable, highly flexible, latex-free cotton ribbon, snap-on safety closure, secure opening, quick and safe releasing, convenient roll clip Country of origin: China	MS-114	1,200	Pc	15.00	18,000.00
8	Cigarette drain (Penrose drainage tubing) size 1/4" - Pure rubber latex, X-ray opaque, 18" length (with at least 24 months expiration).	MS-135	50	Pc	45.00	2,250.00
9	Cigarette drain (Penrose drainage tubing) size 1/2" - Pure rubber latex, X-ray opaque, 18" length (with at least 24 months expiration).	MS-136	50	Pc	45.00	2,250.00
10	Cigarette drain (Penrose drainage tubing) size 1" - Pure rubber latex, X-ray opaque, 18" length (with at least 24 months expiration). Country of origin: China	MS-137	50	Pc	45.00	2,250.00
11	CO2 Absorber Lime Soda; Intersorb Plus Sodalime 5L Gallon, white to violet change. (with at least 24 months expiration). Country of origin: China	MS-138	5	Gal	1,850.00	9,250.00
12	Wound Drainage Reservoir 400mL with anti-reflux valve, connecting tube with clamp and "Y" connector, Perforated DEHP free Redon drain catheter with radiopaque line, size Fr.10 (with at least24 months expiration).  Country of origin: China	MS-213	30	Pc	650.00	19,500.00
13	High Flow Nasal Cannula, Medium (with at least 24 months expiration). Country of origin: China	MS-231	264	Pc	879.00	232,056.00
14	Sterile Foley Catheter: - Silicon elastomere coated - Disposable - Three-way - Fr. 24 - Needleless - Balloon should have high tensile strength and can withstand up to 100mL without bursting - Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa - The tip should not easily kink on manipulation and insertion - The lumen should withstand manual and repetitive suctioning without collapsing - The body should be easy to handle and should not be slippery to manipulate The item should have only one round atraumatic inlet and one round atraumatic outlet at the tip. Country of origin: China	MS-268	30	Pc	125.00	3,750.00

1-	Charille Falou Call 11	т		T	1	T
15	Sterile Foley Catheter: - Silicon elastomere coated					
	- Disposable					
	- Three-way					
	- Fr. 22					
	- Needleless					
	- Balloon should have high tensile strength					
	and can withstand up to 100mL					
	without bursting					
	- Inflow and outflow eyelets should be					
	atraumatic to the urethral and bladder					
	mucosa	MS-269	5	Pc	110.00	550.00
	- The tip should not easily kink on					
	manipulation and insertion					
	- The lumen should withstand manual and					
	repetitive suctioning without collapsing					
	The body should be easy to handle and					
	should not be slippery to manipulate.					
	- The item should have only one round					
	atraumatic inlet and one round atraumatic					
	outlet at the tip.					
	Country of origin: China					
16	Sterile Foley Catheter:	1				
10	- Silicon elastomere coated					
	- Disposable					
	- Two-way					
	- Fr. 18					
	- Needleless					
	- Balloon should have high tensile strength					
	- Inflow and outflow eyelets should be					
	atraumatic to the urethral and bladder					
	mucosa			1991	1000000 00000	
	- The tip should not easily kink on	MS-273	10	Pc	32.00	320.00
	manipulation and insertion					
	- The lumen should withstand manual and					
	repetitive suctioning without collapsing					
	- The body should be easy to handle and					
	should not be slippery to manipulate.					
	- The item should have only one round					
	atraumatic inlet					
	Country of origin: China				-	
	,		100 M			
17	Sterile Foley Catheter:					
	- All-silicon					
	- Disposable					
	- Two-way					
	- Fr. 8					
	- Needleless					
	- Balloon should have high tensile strength					
	- Inflow and outflow eyelets should be					
	atraumatic to the urethral and bladder	700000000 A BO	- Common			1
	mucosa	MS-274	10	Pc	120.00	1,200.00
	- The tip should not easily kink on					
	manipulation and insertion					
	- The lumen should withstand manual and					
	repetitive suctioning without collapsing					
	- The body should be easy to handle and					
	should not be slippery to manipulate.					
	- The item should have only one round					
	atraumatic inlet					
	Country of origin: China	1				

18	Sterile Foley Catheter:					
	- All-silicon					
	- Disposable					
	- Two-way					
	- Fr. 12					
	- Needleless					
	- Balloon should have high tensile strength					
	- Inflow and outflow eyelets should be					
	atraumatic to the urethral and bladder			_	0.900.00	
	mucosa	MS-275	10	Pc	117.00	1,170.00
	- The tip should not easily kink on					
	manipulation and insertion					
	- The lumen should withstand manual and					
	repetitive suctioning without collapsing					
	- The body should be easy to handle and					
	should not be slippery to manipulate.					
	- The item should have only one round					
	atraumatic inlet					
	Country of origin: China					
19	Sterile Foley Catheter:					
	- All-silicon					
	- Disposable					
	- Two-way					
	- Fr. 14					
	- Needleless					
	- Balloon should have high tensile strength					
	- Inflow and outflow eyelets should be					
	atraumatic to the urethral and bladder					
	mucosa	MS-276	20	Pc	117.00	2,340.00
	- The tip should not easily kink on					
	manipulation and insertion					
	- The lumen should withstand manual and					
	repetitive suctioning without collapsing					
	– The body should be easy to handle and					
	should not be slippery to manipulate.					
	- The item should have only one round					
	atraumatic inlet					
20	Sterile Foley Catheter:	2 2				
20	- All-silicon					
	- Disposable					
	- Two-way					
	- Fr. 16					
	- Needleless					
	- Balloon should have high tensile strength					
	- Inflow and outflow eyelets should be					
	atraumatic to the urethral and bladder	1	100	_	10,000,000 100,000	And the last to the supplicity and the same
	mucosa	MS-277	50	Pc	117.00	5,850.00
	- The tip should not easily kink on					
	manipulation and insertion					
	- The lumen should withstand manual and					
	repetitive suctioning without collapsing					
	The body should be easy to handle and					
	should not be slippery to manipulate.					
	- The item should have only one round		- 3			
	atraumatic inlet					
	au aumatic mict					

				TOTAL	AMOUNT:	₱ 329,326.00
21	Sterile Foley Catheter:  - All-silicon  - Disposable  - Two-way  - Fr. 18  - Needleless  - Balloon should have high tensile strength  - Inflow and outflow eyelets should be atraumatic to the urethral and bladder mucosa  - The tip should not easily kink on manipulation and insertion  - The lumen should withstand manual and repetitive suctioning without collapsing  - The body should be easy to handle and should not be slippery to manipulate.  - The item should have only one round atraumatic inlet Country of origin: China	MS-278	10	Pc	117.00	1,170.00

You are hereby required to submit the following within ten (10) calendar days:

 Contract Agreement Form (Legal Size) for the Public Bidding for the Supply and Delivery of Medical Supplies CY 2023

NOTE: The signatory shall be NOEL V. REYES, MD, FPPA, MMHoA, MEDICAL CENTER CHIEF II; and

- Notarized Performance Securing Declaration; or
- Performance Security in any forms and amount stipulated below:

A.	Cash or Cashier's / Manager's Check Bank	Five Percent (5%) of the Total Contract Price				
	Guarantee					
B.	Surety Bond callable upon demand issued	Thirty Percent (30%) of the Total Contract				
	by a surety or insurance company duly	Price				
	certified by Insurance Commission / GSIS	The second second				

Failure to provide any of the above-mentioned requirements shall constitute sufficient grounds for cancellation of this Award and forfeiture of the Bid Security.

Truly yours,

NOEL V. REYES, MD, FPPA, MMHoA

Medical Center Chief II

CONFORME:

Authorized Representative

Juon

02 03 23

Date and Time